
1

R1

R2

R3

R4

R5

R6

R7

R8 R9

125 V

R1=R2=R3= 10.0 Ω
R4=R5= 15.0 Ω
R6=R7=R8= 25.0 Ω
R9= 50.0 Ω

Find Rt,It, and I3, I5, I7, V4, V6 and V9



2

R1

R23

R4

R7

125 V

R56 R89

R23= 20 ohms
R56=40 ohms
R89=16.7 ohms



3

R1

R23

R4

125 V

R56 R789

R789 = 10.0 ohms



4

R1

R23

R4

125 V

R56789

R56789 = 8.0 ohms



5

R1

R23

125 V

R456789

R456789 = 23.0 ohms



6

R1

R23456789

125 V

R23456789 = 10.7 ohms



7

Rt

125 V

Rt = 20.7ohms

It = Vt/Rt = 125 V/20.7 = 6.04 amps
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